ACROSS

1.353 -126 =
4.46 X6 =

6.26 +330+12 =
7.724 -322 =
8.1265 - 404 =

10.
12.
14.
15.
17.
19.
. 646 - 215 =
22,
23.

21

400 + 467 =

3 Down — 16 Down =
2004 — 876 =

133 + 208 + 428 =
1652 — 809 =

26 X9 =

1762 — 1430 =
19 Across + 22 Across =
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Puzzle #1

NAME:

X[ <

DATE:

DOWN

1.526 — 322 =

2.519+ 213 =

3.5673 + 2163 =

4.597 -349 =

5.12 Across — 15 Across =
9.946 — 324 =

10.
11.
13.
16.
17.
18.
19.
20.

1200 - 393 =

436 + 283 =

172X 2 =

2386 + 1420 + 2640 =
1257 - 444 =

161 X2 =

430 -215=

162 + 162 + 162 =

Skills: complex addition and subtraction; multiplication by single-digit numbers.
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